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QUESTION 1

Which statement about OpenStack and ACI is true?

A. Integration can leverage a Cisco APIC plug-in or a Group Policy plug-in.

B. The Nova ML2 plug-in maps APIs into the ACI policy model.

C. The Cisco APIC driver communicates northbound using the OpFlex plug-in.

D. The Cisco APIC driver is used in place of an OVS driver to communicate to the virtual machine managers.

Correct Answer: A

QUESTION 2

Which three statements about the group policy model within ACI are true? (Choose three.)
A. It is an abstracted view of application requirements.

B. Policy is portable.

C. Policy is based on the IP addresses of application services.

D. Policy is extensible.

E. Policy maintains flow information.

F. Policy is enforced from the Cisco APIC.

G. Policy follows the blacklist model.

Correct Answer: ABD

QUESTION 3
Which option is for migrating an existing Data Center network to Cisco ACI?

A. First migrate existing FEXs to 9500.

B. First connect the core (for example, Cisco ASR 9000 Router or Cisco Nexus 7000 Series Switches) to the ACI fabric

that supports external connectivity routing mechanisms (OSPF NSSA, iBGP, and static routes).
C. First disable flooding on each bridge domain during migration to avoid broadcast storms.
D. First migrate existing access layer (for example, Catalyst 5500/6000 + FEX) to Cisco MDS 9500 Series.

Correct Answer: B
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QUESTION 4

Which option is an ideal environment in which to deploy ACI?
A. WAN edge

B. virtual storage farm

C. disaster recovery site

D. enterprise core

Correct Answer: C

QUESTION 5

Which two types of data formats are supported by the RESTful APIs? (Choose two.)
A. XML

B. JSON

C. SNMP

D. HTTP

E. CSV

Correct Answer:. AB
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